Sr Questions Answers Choice

. Large

. Small

. Minute

. Marginal

1 The improvement made by changes in the system was and did not warrant the large
expenses

. Entered
Lodged

. Registered
Noted

2 The police have a complaint against four persons

Strong
Large
Deep
Vast

3 His interest in the study of human behavior is indeed very
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A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">when</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
Hardly had he finished his lunchthanthe phone rang. i‘;’:}aﬁ“g”;s“?ﬁ,ﬁ‘;ﬁs;32‘,’;21,;‘;2;
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">then</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">since</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">a very great
man</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
.. . variant-caps: inherit;">the greatest
Netaji was by a fara great manof India man</spaﬁ> J
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">too great
man</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">No
Correction</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">quite
miserable</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
. . . variant-caps: inherit;">very
There is nothingmore miserablethan the unemployment miserable</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">as

miserable</span>

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">No Correction.
</span>

A. <span style="font-family: inherit;



10

1"

It isenough fatalto a animal as to a human being

The winter hasset inand the days are getting colder.

He stoppedfo worktwo hours ago.

She is not only prettybut very charming

Heis working inthe company since 2000

font-size: Inherit; font-style: Inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">too
fatal</span>

C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">so fatal</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">fatal</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">set off</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">set up</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">set
with</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">at work</span>
C. with work

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">to have
work</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">very also a

charming</span>

B. very charming

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">No
correction</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">is working
with</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">is working
at</span>

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">have been
working in</span>
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There was nocause of anxiety.

A bird in hand is worthiwo in bush.

If yoursister yet atthe sports complex

| knew that they wereheading intoa serious disaster

Hesent a wordto me that he would be coming late.

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">cause to
anxiety</span>

C. cause with anxiety

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">No
correction</span>

A. two at the bush

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">two on
bush</span>

C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">two at a
bush</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sister till
at</span>

C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sister still
at</span>

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">no
correction</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">heading
at</span>

C. heading along

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">heading
towards</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sent few
words</span>

C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sent
words</span>

D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-



variant-caps: inherit;">sents a
word</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">opinion
on</span>

1 He was asking myopinion forthe film.

C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">opinion
with</span>

D. <span style="font-family: Georgia,
&quot;Times New Roman&quot;,
Times, serif; font-size: 16px;">No
correction</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">you, | and my
wife</span>

B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-

18 Please try to remember whenl, you and my wifewere talking there varia;lt-capsr inherit;">I, my wife and
you</span>

D. <span style="font-family: Georgia,
&quot; Times New Roman&quot;,
Times, serif; font-size: 16px;">No
correction</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">to the
unemployed</span>

19 Leader said, that he is committed to give a jobfo all the unemployed

C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">any of the
unemployed</span>

D. every unemployed

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">the
home</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
. . font-variant-ligatures: inherit; font-
The reason why he leftthe home wasbecause he was feeling hostile variant-caps: inherit;">the home
has</span>
20 there C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">the home
were</span>
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